[=
Series Z1XYW/C SET-~3
U9-UF hig
Q.P. Code 3 1 /C/3

et . glieqreff T-19 Sig hl IA-GEdehT
Roll No. TE-J8 W 9% g |

E]' [ okdo Candidates must write the Q.P. Code

% Al on the title page of the answer-book.

E Er-:
X?,‘X::I3:::3:f:}::t:2::ZI::t:::::2:::22::2:222:::::2:::2:!:3::2&2

o PUIT ST IR o b 57 ULT-UF H Higd I35 27 ¢ | * g

o ULT-UN H Gligel 81 bl 3R T 3T UeeT-Ux Ple I Wiendl Iar-gRaem
P JHA-J8 R ford |

o PUYAT MG B ¢ b 59 UeT-Ux H 39 U ¢ |

o U UL BT IR foRAeT YA Bot A UgH, ITR-YIFAdT # UL BT HAS 3HaT
forad |

e ST UIFT-UN Bl Ugsl P 0 15 fele &1 77 feam s 8 | u9el-ux &7
f9aRoT gaig # 10.15 o fear Sesn | 1015 & A 10.30 §of db 85
B UeT-US PI Ugs! 3R A 1A F GRIET I IWR-YRABT R Bls IR
oTgt fordar |

e Please check that this question paper contains 27 printed pages.

e Q.P. Code given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

e Please check that this question paper contains 39 questions.

e Please write down the serial number of the question in the answer-book before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on the
answer-book during this period.

SCIENCE
¢ ferefRa s : 39w a1 31 : 80 |
i Time allowed : 3 hours Maximum Marks : 80
D T S S T i S e e S e T e i o o il
31/C/3 A ~- 1 - P.T.O.



HTHT=T (3597 :
HETICTRET 14911 %1 agd FIaeT] & 9igq 3t 37eh1 axed] @ 9Ici Hila :
() 39 ¥97-97 4 F7T 39 797 & | @4t yv7 s7f4ard & |

(i) I8 Jo7-97 qia @USI 7 [a97f5id 631 78— &, &, T, g q & |

(iii) @Y & - F7 G&IT 1 & 20 7% FGIaHc9id JHR & 97 & | Te% Jo7 1 HF 7
g/

(iv) TUE W - J97 G&I7 21 T 26 7% 37fd TY-3IF0T FHR & J97 8 | A% 97 2 b1
T8 | 57 991 & I 30 @ 50 ¥I55] 4 130 5T T8 |

(v) @Y T - F97 H&IT 27 8 33 T 7Y-I0T JHR & Y & | Yedb Y9 3 A H
g 1 57 J991 % 50 @ 80 ¥egl H 137 517 =0T |

(vi) UG G - Y97 G&IT 34 T 36 7% FH-370T PR & 97 & | A% J97 5 bl H7
g 1 57 o7 & I 80 @ 120 55 7 13 517 =nfzw |

(vii) TYE & - J97 &I 37 T 39 TF 3 GIa-STTRA/JH-TEGRT $H151 & Tooleh
& AR-9R 37 & I97 (37-3%71 qizd) & |

(viii) F¥7-97 ¥ TGF 9%y T80 1591 77 8 | TEh, o @vel ¥ saRr® fa@wey 5T T
g | 39 YbH & Yol 4 Sac U & laheq &7 I v |

Qug <h

39 GUE 7 20 Tglahe1d I97 (3. . 1 20) & | @9t 797 AT 5 | 20%1=20

1. 379 S i hSRdl I IV HT AT8d &, Tq AT JIIMEAT H HIX TA
3qaey 8 & | FfaiRad # & fohd Jifeni ol g ST | AR A Dl HoR
ST ST Gehll & 2
i)  OfSTH H1 FRSISH HIEHS
(i) By =1 gehe
(if)  hfcEm H1 FARES
(iv) EfSTH T HIEHS
(a) (1) 3 (i)

(b) (i) 3 (iii)
(¢)  (iii) 3R (iv)
d @ I (v)

31/C/3 -2



{3
O

General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)
(ii)
(ii1)

(iv)

(v)

(vi)

(vii)

(viii)

This question paper comprises 39 questions. All questions are compulsory.
This question paper is divided into five sections — A, B, C, D and E.

Section A — Questions No. 1 to 20 are multiple choice questions. Each question
carries 1 mark.

Section B — Questions No. 21 to 26 are very short answer type questions. Each

question carries 2 marks. Answer to these questions should be in the range of
30 to 50 words.

Section C - Questions No. 27 to 33 are short answer type questions. Each

question carries 3 marks. Answer to these questions should in the range of
50 to 80 words.

Section D — Questions No. 34 to 36 are long answer type questions. Each

question carries 8§ marks. Answer to these questions should be in the range of
80 to 120 words.

Section E — Questions No. 37 to 39 are of 3 source-based/case-based units of
assessment carrying 4 marks each with sub-parts.

There is no overall choice. However, an internal choice has been provided in
some sections. Only one of the alternatives has to be attempted in such
questions.

SECTION A
This section has 20 multiple choice questions (Q.No. 1 — 20). All questions are
compulsory. 20x1=20
1. You want to test for hardness of water but hard water is not available in

the laboratory. Which of the following compounds may be dissolved in
pure water to make it hard ?

(1) Hydrogen Carbonate of Sodium
(i1))  Sulphate of Magnesium
(iii)  Chloride of Calcium

(iv)  Carbonate of Sodium

(a) (1) and (ii)
(b) (i) and (iii)
(c) (iii) and (iv)
(d) (1) and (iv)

31/C/3 3 P.T.O.
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(a) <R GIISTohdl

(b)  HHEIET

(c) AYLEYAT

d)  TEeH

3. fmafcifed 4 @ & o4 4 9 faga g/ yantea g4 6t 1gafa gm/an 2

() RN
(i) I HClT\
(iii) Ucohlgra

(IV) ?l’g’ H2SO4

(a)  had (i) 3N (iid)
(b)  had (iv)

(¢ ad (i) 3R (iv)
(d  Gi), (i) 3R (v)

4. A % [Igd-3EeH § A THE W ThiAd 19 & GoI0H m, AN HE T
AT 19 H §eI9H m,, 7, @ (m/m,) T qH AT :

(a) 8 (b) 16

(c) 1 (d) 1
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2. Which one of the following properties of Carbon is not responsible for its

formation of large number of compounds ?
(a)  Tetravalency

(b)  Isomerism

(c)  Allotropy

(d) Catenation

3. Which of the following will allow the electricity to flow through it/them ?

(1) Glucose

(iil) Dry HCl gas
(iii)  Alcohol

(iv)  Dil. HySOy4

(@) () and (iii) only
)  (iv) only

(¢ (i) and (iv) only
(@ (i), (iii) and (iv)

4., In the electrolysis of water, if the mass of the gas collected at the anode is

m, and the mass of the gas collected at the cathode is m., the value of

(myJ/my) is :
(a) 8 (b) 16
1 1

31/C/3 =5 = P.T.O.
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5. Consider the following substances :
(1) Acidified KyCryO7
(i)  Alkaline KMnOy4
(iii) Oxygen
(iv) Hydrogen
Out of these, the commonly used oxidising agents are :
(a) (1) and (ii) only
(b) (i) and (iii) only
(c) (1), (i1) and (ii1)
(d) (@), (id) and (iv)

6. Select from the following compounds which is not a base :
(a)  Sodium hydroxide
(b)  Calcium hydroxide
(c) Sodium sulphate
(d)  Zinc oxide

7. 2 g of yellow sulphur powder is burnt in a china dish and the fumes are
collected in a test tube. Water is added in the test tube and the solution is

tested separately with blue and red litmus paper. The correct option is :
(a)  Blue litmus remains blue and red litmus turns blue.

(b)  Blue litmus turns red and red litmus remains red.

(c) Blue litmus turns red and red litmus turns blue.

(d) Blue litmus remains blue and red litmus remains red.

8. Which one of the following metals is malleable and a poor conductor of

electricity ?
(a)  Copper (b) Zinc
(c) Lead (d)  Silver
31/C/3 7 P.T.O.
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9. The organism in which an outgrowth on the parent body develops into a
new individual is :
(a) Amoeba (b)  Paramecium
(c) Rhizopus (d) Yeast

10. As compared to daytime, the amount of carbon dioxide released by the
plants during night is more because :

(a) It is not produced during daytime.
(b) It is stored in the leaves of plants during daytime.

(c) Major amount of carbon dioxide produced is used up for
photosynthesis during daytime.

(d)  Plants do not respire during daytime.

11. The resistance of a wire does not depend on its :

(a) Length
(b) Area of cross-section
(c) Shape

(d) Material

12. The shape of magnetic field lines produced (i) inside a solenoid
(ii) around a straight conductor, both carrying current of the same
magnitude are, respectively :

(a) (i) straight, (ii) circular
(b) (1) circular, (i1) circular
(c) (1) straight, (ii) straight
(d) (@) circular, (ii) straight

13. In a cross between pure tall pea plants (TT) and pure dwarf pea plants
(tt) the offsprings of F'; generation were all tall. When F; generation was

self-crossed, the gene combinations of the offsprings of Fy generation will

be :
(a) TT:Tt:tt (b) TT:tt
(c) Tt : tt (d TT:Tt

31/C/3 =9 P.T.O.
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How much work is done in moving a charge of 3 C across two points
having a potential difference of 12 V ?

(a) 4J
(b) 36d
(c) 54J
d 216d

When an object is placed beyond 2F of a convex lens, the nature of the
image formed is :

(a) Real, inverted and diminished

(b)  Real, erect and magnified

(c) Virtual, erect and magnified

(d)  Real, inverted and magnified

When a narrow beam of white light passes through a glass prism it splits
into its component colours ? This phenomenon is called :

(a)  Diffusion of light

(b)  Total reflection of light

(c) Scattering of light

(d)  Dispersion of light

For Questions number 17 to 20, two statements are given — one labelled as
Assertion (A) and the other labelled as Reason (R). Select the correct
answer to these questions from the codes (a), (b), (c) and (d) as given below.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

31/C/3 11 = P.T.O.
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17. Assertion (A): A rainbow is an artificial spectrum of white light
appearing in the sky after a rain shower.

Reason (R): The water droplets act like small prisms.

18. Assertion (A) : In the reaction, NagSO4 + BaCly ——— BaSO4 + 2NaCl,

sodium chloride is precipitated.

Reason (R): When an aqueous solution is added to another aqueous
solution, an insoluble substance is formed, which is called
precipitate.

19. Assertion (A) : Variation is useful for the survival of a species over time.

Reason (R):  The process of DNA copying will have variation each time
because biochemical reactions are not reliable.

20. Assertion (A) : A hormone called abscisic acid inhibits growth in plants.

Reason (R): The role of auxins is opposite to that of abscisic acid in

plants.

SECTION B

21. “In human beings, the sex of a newborn child depends on the father and

not the mother.” Justify this statement with the help of a flow diagram. 2

22. Identify one organ each in human (i) male, and (ii) female reproductive
system which plays a role of endocrine gland along with the production of

germ cells. Name a hormone secreted by each of them. 2

23. (a) State any one advantage of using cloth bags over plastic bags.

(b) List any two methods by which the solid wastes generated in

urban areas can be safely disposed off. 2

31/C/3 13 = P.T.O.
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A metal ‘A’ reacts violently with cold water and the gas evolved
catches fire. Another metal ‘B’ when dipped in water starts
floating. The metal ‘C’ does not react either with cold or hot water,
but reacts with steam. The metal ‘D’ does not react with water at

all. Identify the metals ‘A’, ‘B’, ‘C’ and ‘D’. 2
OR
When two compounds namely sodium chloride and calcium
chloride are heated directly, one by one on the flame of a burner,
they impart different colours to the flame.
(1) Name the colour imparted by (1) sodium chloride and
(2) calcium chloride.
(ii)  Are these compounds soluble in organic solvents such as
kerosene or petrol ? Justify your answer. 2
State Fleming’s left-hand rule.
An electron enters a magnetic field at right angles to it as shown in
the following diagram. Use Fleming’s left-hand rule to determine
the direction of force experienced by the electron. 2
electron
A
Magnetic
field <
<
Find the magnification of the image formed by a spherical mirror
from the following data :
u=-20cm, f=-15 cm. 2
OR
Draw a labelled ray diagram for the image formation by a concave
mirror when an object is placed between its centre of curvature
and focus. 2
15 < P.T.O.
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SECTION C

27. Write any two ways by which plants obtain carbon dioxide. What causes
the opening and closing of the stomata ? 3

28. (a) () Why are the chemical properties of different members of a
homologous series similar ?

(i) What is the difference in the number of carbon and
hydrogen atoms between any two successive members of a
homologous series ? Justify your answer by giving an
example from (i) alkynes, (ii) alcohols and (iii) aldehydes. 3

OR
(b) @) State reasons why

(1) Carbon forms strong bonds and stable compounds
with most other elements.

(2) The melting and boiling points of covalent compounds
are low.

(11) Draw the electron dot structure for the molecule of Chlorine
(Atomic number 17). 3

29. (a) Name the glands present in the walls of the stomach and write the
secretions which are released by them.

(b)  Although the liver does not contain any enzyme yet it plays an

important role in digestion. Comment. 3

30. (a) @) Differentiate between a solenoid and a circular coil.
(i1)  Explain how a solenoid can be made in a school laboratory.

(iii) Write one use of the strong magnetic field produced inside a
current carrying solenoid. 3

OR

31/C/3 17 = P.T.O.
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(b)  With the help of a labelled circuit diagram, illustrate the pattern of

the magnetic field lines of the magnetic field produced around a

straight current carrying conductor. Explain how, with the help of

right-hand thumb rule, we can determine and mark the direction

of magnetic field lines due to a current. 3

A person keeps the reading material much beyond 25 cm from the eye for

comfortable reading. Name the defect of vision he is suffering from. How

can it be corrected ? Draw ray diagrams for (i) the defective eye and

(i1) its correction. 3
What is photosynthesis ? Name the organelle and the organs in which
photosynthesis takes place. Where does the oxygen liberated come from
during this process ? What happens to the carbohydrates which are not
immediately used by the plant ? 3
(a)  Give one example each of (i) Natural and (ii) Artificial ecosystems.
(b)  Write an aquatic food chain with four steps. Which group of
organisms are of primary importance and why? 3
SECTION D
(a) (1) An aqueous solution turns blue litmus red. Which of the
following solutions when added in excess would reverse the
change ?
(1) Lemon juice
(2) Magnesium hydroxide
(3)  Vinegar
(4) Calcium sulphate
19 < P.T.O.
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i) = feu Tu Sfies /A § @ w9-a1/8 FaiewdtaT & oo
Sl TATS SHUT /AT ?
(1) CH;COOH
(2) Ca(OH),
(3) HCI
(4) NaOH

(iii) 39 M| 1 49 faRau o faerm areha giar 8 | 39 faomm
%1 AW /g3 faRaT |

(iv) WYAFE! o o hl ITAR HL o O GRHE foe=H 1 ST
foRe ST B | R 2

(v) (1) 2HTET 3T (2) 3H § UTW S oA 370 <1 A0 foTRau | 5

reran
(@) () TorteaH St 1 gftym fafEu |

(i) Torelt T8 s 1 TS T 3R 3T g7 fafaw freeh o1
T fopreat Siat Jufeera giar g iR et did g 8 |

(iii) ToRses 9l @1 TERte ¥ fafew | sk Wi § g 9Tt
rfufshan &1 dqdfora TE™S T fafge | gaesh a9 ST
EIRCCiICE 5

35. (%) (1) HWI UG I aF o 39 7 &1 a1 foafgu S&f F=falea &
ST TS BT 8 -
(1) gl 61 gfteaar

(2)  2TUg 3N IR 1 T (=)

(3) WS T U
(i) o1 Bl @ 99
(1) 37Ug & 8= g1 3 ?
(2)  3UE k] TN=E 7 g1 8 2 3+2=5
AU
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(ii)

(iii)

(iv)

(v)

1)

(i1)

(iii)

(1)

(i1)
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Out of the following, which compound/compounds will turn
the phenolphthalein solution pink ?

(1) CH;COOH
(2) Ca(OH),
(3) HCI

(4) NaOH

Name a gas whose aqueous solution is basic. Write the
formula/name of this solution.

A basic substance is used to treat a honey-bee sting. Why ?

Name the acid which is present in (1) Tomato and
(2) Tamarind. 5

OR
Define water of crystallisation.

Write the chemical name and formula of a compound having
water of crystallisation in its molecule and appears blue.

Write the chemical formula of bleaching powder. Write a
balanced chemical equation of the reaction involved in its
preparation. List its three uses. 5

Name the parts in the human female reproductive system
where the following functions take place :

(1) Maturation of eggs
(2)  Fusion of the egg and the sperm
(3) Implantation of the zygote

What happens to the egg

(1)  when it is fertilised ?

(2)  when it is not fertilised ? 3+2=5
OR

—3— 21 —j— PTO



31/C/3

(i) I hl Ueh-Ush ICTELUT Coh SANSHT hIfIU :

(1) THicHl I59
(2) 3T g

(i) feu 7u @ ¥ 3Ifeha wmTt A, B, C 3R D &1 A1 fafgu |

QLB A

(i)  “Fro=m & fo@T 9T B |ehar 3 Wi WEToT & T fmem T |
Fehdl g |7 39 YA hl R Figd gee HIfT |

ekl diF Tfalgs Ry, Ry 3 Ry QU 7T & | 34 Ufcligenl & qod
gferiy & foru o fafge, @ 57 gfatessi @0 () 9oft 9, 3R (i) 9ed &

gt foram T 2 |

2Q,3Q 3T 4Q & fiF Jfaliereh! sl Joft § GATA hieh 3° TIISH hi

9 V &l st & Tt foham T 8 | 39 9RuY 9 us UHier 3 UH

JieeHet wl ff FEfaa fohem = B | 39 eft ghe o wd e A

FAId d 7Y foga aftay sm@ Eife | (@) UHiex g qwnis s o

g qAT (i1) 3 Q Thagh < & W fawara fgifa Hive |
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36. (a)

(b)
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(1) Explain by giving one example each :
(1)  Unisexual flowers

(2) Bisexual flowers

(ii))  Name the labelled parts A, B, C and D in the diagram given

below.

(iii)  “Pollination may occur without fertilisation but fertilisation
will not take place without pollination.” Give reason to
justify this statement.

You have three resistors R{, Ro and Rg. Write the formula for the

equivalent resistance of the combination, when these resistors are

joined (i) in series and (ii) in parallel.

Three resistors of 2 Q, 3 Q and 4 Q are connected in series and the
combination is connected to a battery of 9 V. An ammeter and a
voltmeter are also connected in the circuit. Draw a circuit diagram
to show the connection of the above said devices in a correct order.
Determine (i) current shown by the ammeter and (ii) potential
difference across the 3 Q resistor.

5
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37.

38.

e HIMR % TEr e iig &qew 61 T 1600 oW 49 g1 o1 | A o
I & U TIF W @l 2 3N 39 W S A1 HIS U8 T8 8 | I8 owiar 2
39 9T % YA 9Rd & o1 fasfaa 3 orgedta gseat 1 g ®9 9 fasfaa
H oh drg-any fafie argett o1 gt W ot dehdie o faeeiaa &t ot off |
gTg I GUHT T o B Hs THHI oid I 91l hl qac Td FGHl
(ciod), Tasmg &=, 3fe gra fohu Smd 9 |

(%) orgeti i AlRIaT S § R el Rq 7 ? I8 Wepld H fopm/fomd
Y /&9 H 9T AT R 2

(@) woia 3R feama & st favea fifse |

() aTgSi I AT TE/FAR ¥ F=H i fohegl g fafe i smen Fifu |
HAYAT

(M) I H v IR AR F T gt H W e+ o agiufem e

ST FA1 TohaT SATAT & 2 B Tt ATThaT 3T Hqford TET(-eh THIHTT
fafaa |

STt | = 3R a9 1 1 dfehT 3T IS Hdehi gra foham SITaT B |
qfAehT Shcich AT SHITITRISTT AT =1 o Teh TI(SA ST ol &A1 BT & |
AHal # 9ieFT T Sied Iishar & Srad 1fes SIfea fspanfafer of afes waem
gftiferd 81d & | 3 Ofeass H Hehigd Bid @ Sl AHd IR 1 &I U heg
7 | AfEsh QAT HELS] hrg ¥ AT O 1 THHIUT hid @ A ILR & auft 9mm 4

FoHTE UTH d 3 TR 3T HHThe hid o |

(%) oATETl TR el & Hledsh i GLan e TR el 7 2

(@) vfdad =9 ¥ (i) §agl = (AEERIRERT) 3T (i) I AFhIRERI
e % fafau |

(M) @) UfEE W IBET MW (i) I (THF) A T TG AfEdsh HT hiA-AT

a1 gimfad a1 8 2 Iea@ hifvu fe a8 foad ufess & stuan
=T |

AAAT
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SECTION E

The following questions are source-based /case-based questions. Read the case
carefully and answer the questions that follow.

37.

38.

31/C/3 25 < P.T.O.

The iron pillar in Qutab Minar complex in Delhi was built 1600 years
ago. It is still standing intact and shows no signs of rusting even today.
This shows that the ancient metallurgists of India in those times had
fully developed metallurgical processes as well as the techniques of
protection of different metals. The protection of metals, was done by
several processes like coating of a thin film of another metal, alloying etc.

(a)  Where is iron placed in the reactivity series of metals ? Write the
form/forms in which its ores are found in nature.

(b)  Differentiate between roasting and calcination.

(c) Explain any two methods that are employed to prevent
rusting/corrosion of metals.

OR

(c) Why is aluminium used to join railway tracks or the cracked
machine parts of ‘iron’ ? Write a balanced chemical equation for
the reaction which occurs.

In animals the control and coordination is provided by nervous and
muscular tissues. Nervous tissue is made of an organized network of
nerve cells or neurons. In human beings, thinking is a complex activity
which involves more complex mechanisms and neural connections. These
are concentrated in the brain which is the main coordinating centre of the
human body. The brain and spinal cord constitute the Central Nervous
System which receives information from all parts of the body and
integrates it.

(a) How is the brain protected from shocks and injuries ?

(b)  Write the main functions of (i) sensory neuron and (ii) motor
neuron in a reflex arc.

(c) Which part of the brain is involved in activities like (i) picking a
pencil and (ii) vomiting ? State whether these actions are
voluntary or involuntary.

OR



() S ales o faft frameremal & fou forg gobr st & o1 wmn |
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() 39 e Hrea|l | 9 forad yeetsr <l =mer Afees g 2

(i) I bt it wIs Tomor fofepd: i @ STt d Yaw1 Ll g,
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() ST 3R g & FRU adIR HH: % 3R g 2 | Jfe = o Y
& T 2 x 108 m/s B, @ (1) I 3R (ii) Fata & et <ht =11 I
HIfT |
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(c) How does the central nervous system communicate with other
parts of the body to carry out various activities ? Name two
components of this system.

When a ray of light moving in a medium enters obliquely into another
medium, it bends from its path. This phenomenon is called refraction of
light. The ability of a medium to refract light is also expressed in terms of
optical density. It is not the same as mass density. We use the terms
‘rarer medium’ and ‘denser medium’ which actually means ‘optically rarer
medium’ and ‘optically denser medium’ respectively. When we say that a
medium ‘A’ is optically denser than the other medium ‘B’, we mean that
the refractive index of medium A is more than the refractive index of
medium ‘B’. The speed of light is higher in a rarer medium than a denser
medium. Thus a ray of light travelling from a rarer medium to a denser

medium slows down and bends towards the normal.

(a) Define the term absolute refractive index of a medium.

(b)  Absolute refractive indices of water and glass are % and %
respectively.
(1) In which one of the two media is the speed of light more ?

(ii)  If a ray of light enters obliquely from glass to water, will it

bend towards the normal or away from the normal ?

(c) The absolute refractive indices of water and glass are % and 3

2
respectively. If the speed of light in glass is 2 x 108 m/s, find the

speed of light in (i) water and (ii) vacuum.
OR

(c) “A ray of light incident on a rectangular glass slab immersed in
any medium emerges parallel to itself.” Draw a labelled ray

diagram to justify this statement.
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